> A
A 2 0l & A &2 & Al A
20169 = 20l B3 St (2H)
2AM: Gt
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SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
Gt == 1t 22,473,000 30,097,000 AT,624,000
= 22,157,000
< 176,000
Al 140,000
HWees 22,473,000 30,097,000 AT,624,000
= 22,157,000
< 176,000
Al 140,000
HEAHNXIE(ot==1t) 22,473,000 30,097,000 AT,624,000
= 22,157,000
< 176,000
Al 140,000
=S8 N d&E32 690,000 3,000,000 22,310,000
= 500,000
= 50,000
Al 140,000
701 JIEtSI HEHES 690,000 3,000,000 22,310,000
= 500,000
< 50,000
Al 140,000
03 BIILELEIIAHMNBNES 690,000 3,000,000 22,310,000
OFUENHUL B8 X& dE=
140,000, 000 14 140,000
AHYTANE XS dES
550,000,000 =14l 550,000
= 500,000
< 50,000
2005 BTLOt+=ZHEHIAIY HEEXS3 3,683,000 3,683,000 0
= 3,683,000
701 JIEtSI HEHES 3,683,000 3,683,000 0
= 3,683,000
03 BIILELEIIAHMNENES 3,683,000 3,683,000 0
02005 BTL ot=2HEHIAY ER2X23
3,683,000,000& 14! 3,683,000
= 3,683,000
2006 BTLOt+=2HAEHIAIE HR2X=3 4,740,000 4,740,000 0
= 4,740,000
701 JIEtSI HEEHES 4,740,000 4,740,000 0
= 4,740,000
03 BIILELEIIHMNENES 4,740,000 4,740,000 0
02006 BTLot==2HHHIAIY HREXN=S=
4,740,000,000% » 14! 4,740,000
= 4,740,000
2009 BTLOt=ZHEHIAIY HEEXS= 2,476,000 2,476,000 0
= 2,476,000
701 JIEtSI HEEES 2,476,000 2,476,000 0
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SN EB S (3H) - NEAY - BES ofl &k o San HDE2
= 2,476,000
03 BIIEELEIAHANEETES 2,476,000 2,476,000 0
02009 BTL St HEHIANY HER2XNS=2
2,476,000,000& 14! 2,476,000
= 2,476,000
S8 S3otx=HMHeAlE D& X2l EXAY 1,386,000 1,821,000 AN 435,000
= 1,260,000
= 126,000
701 JIEIS HSHEZ 1,386,000 1,821,000 A 435,000
= 1,260,000
= 126,000
03 BIIEELEIAHNEEIES 1,386,000 1,821,000 N 435,000
O=8 220Xl AlE DEMHe XA
1,386,000,000& =14 1,386,000
= 1,260,000
= 126,000
ol &H S22 XY HU ALY 5,000,000 7,203,000 N 2,203,000
= 5,000,000
701 JIEIS HSHEZ 5,000,000 7,203,000 A 2,203,000
= 5,000,000
03 BIIEELEIIAHAN=E2EES 5,000,000 7,203,000 N 2,203,000
Odt=C&H S22 XY HUAY
5,000,000, 000& * 14! 5,000,000
= 5,000,000
SoH2K A~HAEHITE S22 ZHIALE 1,998,000 2,497,000 A 499,000
= 1,998,000
701 JIEI HSHEZ 1,998,000 2,497,000 A 499,000
= 1,998,000
03 ZI)ILELEIHN=2ANES 1,998,000 2,497,000 A 499,000
OZ8oH2K A-HSA B I X2 St=2H HBIALS
1,998,000, 0003 =14 1,998,000
= 1,998,000
BHEA =T T & A ZA 2,000,000 2,000,000 0
= 2,000,000
701 JIEIS HSHES 2,000,000 2,000,000 0
= 2,000,000
03 ZI)ILELUIHN=2ANES 2,000,000 2,000,000 0
OBl +=EHIE AA I A
2,000,000, 000& *14] 2,000,000
= 2,000,000
AL MMEGIAE SR ANH 500,000 800, 000 A 300,000
= 500,000
701 JIEIS HSHES 500,000 800, 000 A 300,000
= 500,000
03 2IIEELEIAHN=2HTES 500,000 800, 000 300,000




SM: Gt
M WRES

@2 WEHHXE(St==2t)

= _ — d =
SA - BB B () - MM - BES Ol &t o e
Oedd MHEGHE SEAY
500,000,000 =14l 500,000
= 500,000




